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e P(X=x)

n=10 n=20 n=30 n=40 n=50
0 0.1615 0.0261 0.0042 0.0007 0.0001
1 0.3230 0.1043 0.0253 0.0054 0.0011
2 0.2907 0.1982 0.0733 0.0212 0.0054
3 0.1550 0.2379 0.1368 0.0538 0.0172
4 0.0543 0.2022 0.1847 0.0995 0.0405
5 0.0130 0.1294 0.1921 0.1433 0.0745
6 0.0022 0.0647 0.1601 0.1671 0.1118
7 0.0002 0.0259 0.1098 0.1624 0.1405
8 0.0000 0.0084 0.0631 0.1340 0.1510
9 0.0000 0.0022 0.0309 0.0953 0.1410
10 0.0000 0.0005 0.0130 0.0591 0.1156
11 0.0001 0.0047 0.0322 0.0841
12 0.0000 0.0015 0.0156 0.0546
13 0.0000 0.0004 0.0067 0.0319
14 0.0000 0.0001 0.0026 0.0169
15 0.0000 0.0000 0.0009 0.0081
16 0.0000 0.0000 0.0003 0.0035
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19 0.0000 0.0000 0.0000 0.0002
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P(X=x)

X

p=0.1 p=03 p=05 p=0.7 p=0.9
0 0.1216 0.0008 0.0000 0.0000 0.0000
1 0.2702 0.0068 0.0000 0.0000 0.0000
2 0.2852 0.0278 0.0002 0.0000 0.0000
3 0.1901 0.0716 0.0011 0.0000 0.0000
4 0.0898 0.1304 0.0046 0.0000 0.0000
5 0.0319 0.1789 0.0148 0.0000 0.0000
6 0.0089 0.1916 0.0370 0.0002 0.0000
7 0.0020 0.1643 0.0739 0.0010 0.0000
8 0.0004 0.1144 0.1201 0.0039 0.0000
9 0.0001 0.0654 0.1602 0.0120 0.0000
10 0.0000 0.0308 0.1762 0.0308 0.0000
11 0.0000 0.0120 0.1602 0.0654 0.0001
12 0.0000 0.0039 0.1201 0.1144 0.0004
13 0.0000 0.0010 0.0739 0.1643 0.0020
14 0.0000 0.0002 0.0370 0.1916 0.0089
15 0.0000 0.0000 0.0148 0.1789 0.0319
16 0.0000 0.0000 0.0046 0.1304 0.0898
17 0.0000 0.0000 0.0011 0.0716 0.1901
18 0.0000 0.0000 0.0002 0.0278 0.2852
19 0.0000 0.0000 0.0000 0.0068 0.2702
20 0.0000 0.0000 0.0000 0.0008 0.1216
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	박수칠-기벡 맛보기
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	박수칠 수학 맛보기
	박수칠 수학 맛보기
	박수칠 수학 맛보기
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